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401 AIEHI L 20HEI 1,500,000 2,000,000 500,000
< 750,000
Al 750,000
01 A& HI 1,490,800 2,000,000 A 509,200
O MMAMALT FHA(SHAVME BEF
e 24 1,192,800, 000& 1,192,800
< 596,400
Al 596,400
O MMAMALIT FHA(SHAVMACT F
aZ HXl) 298,000,000 298,000
< 149,000
Al 149,000
03 AlE 2 THHI 9,200 0 9,200
O MMAMALT FHA(SHAVMET BEF
e 24 7,200,000 7,200
< 3,600
Al 3,600
O MMAICI LAY (SALBHAAT] Z
aZ HX) 2,000,000& 2,000
= 1,000
Al 1,000
HY 2B (M FZH D) 96,160 91,600 4,560
Jl2Z U (AFS & Z H ) 96,160 91,600 4,560
Jl2ZHI (M EHZH D) 96,160 91,600 4,560
201 Let2d] 26,500 35,500 A9,000
01 At 22l 26,000 35,000 A9,000
© LBt==EH| 21,000,000& 21,000
O S&Hl 5,000,000& 5,000
02 =224l 500 500 0
O AM&ZEH |XH S 500,000& 500
202 Odl 56,160 43,200 12,960
01 = LH 4 Hi 56,160 43,200 12,960
O MBERIME U0
180,000& = 7 = 128 15,120
O XNHESSHE =W
180,000& = 3 = 128 6,480
© gXelEFEE U
180,000& = 49 = 128 8,640




AN ARSI A Z T
M HHE2GAH (A EHZ ML)
€@l D234 (M HBH D) (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
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£l
Ol
0y

© UXIXAEE =0t

180,0002! * 4% * 12® 8,640
O MATXE 20|
180,0002! * 4% * 12® 8,640
O JIYXNAEY 2ot
180,0002! * 4% * 12% 8,640
203 AR =X 8,100 7,500 600
01 JI2A2YARETY| 3,300 3,300 0
O BECAZEH 275,00080 * 128 3,300
04 BHSYARETY| 4,800 4,200 600
© AbSEI =M Bt 400,0002! * 12 4,800
204 X2 42 bl 5,400 5,400 0
01 MHUZ AR LAY 5,400 5,400 0
O BSTAI2E 350,0008 * 1% * 129 4,200
O MIHBRBE(53)

100,000& » 18 = 128 1,200




